
Sample stock table (active stocks of 2008) 
 
Name  Abrv 

name 
Ticker 
name 

Volume Last Change Pct 
change 

Citigroup Citigrp C 84,940,700 25.480 ▼0.260 ▼1.0% 
Pfizer Inc Pfizer PFE 38,096,800 22.330 ▼0.120 ▼0.5% 
General 
Electric Co. 

GenElec GE 35,644,800 34.370 ▼0.020 ▼0.1% 

Motorola 
Inc 

Motorola MOT 32,757,300 11.280 ▼0.230 ▼2.0% 

Clear 
Channel 

ClearChan CCU 30,675,100 32.350 ▲2.220 ▲7.4% 

JPMorgan 
Chase & 
Company 

JPMorgCh JPM 28.042,300 43.250 ▲0.640 ▲1.5% 

Washington 
Mutual Inc 
Seattle 

WA Mutl WM 27,981,300 17.010 ▲0.150 ▲0.9% 

Bank of 
America 
Corp 

BkofAm BAC 26,471,400 42,700 ▲0.460 ▲1.1% 

Wells Fargo 
& Co 

WellsFargo WFC 25,976,300 29.690 ▼0.120 ▼1.2% 

Sprint 
Nextel 
Corp 

SprintNex S 25,922,600 9.570 ▼0.120 ▼1.2% 

 
 
 
Name ABRV 

name 
Ticker Volume Last Change PCT 

change 
PowerShares 
QQQ Trust Series 
I 

PwShs 
QQQ 

QQQQ 89,164,600 43.820 ▼0.150 ▼0.3% 
 

Level 3 
Communications 

Level3 LVLT 88,345,800 42,480 ▼0.170 ▼6.4% 

Intel Corp Intel INTC 74,355,900 20.110 ▼0.350 ▼1.7% 
Microsoft Corp Microsoft MSFT 64,352,200 28.420 ▼0.080 ▼0.3% 
Cisco Systems Cisco CSCO 50,611,100 23.298 ▼0.232 ▼1.0% 
Sirius Satellite 
Radio Inc 

SiriusS SIRI 48,640,000 3.230 ▲0.040 ▲1.3% 

Comcast Corp Comcast 
s 

CMCSA 39,041,100 20.190 ▲0.950 ▲4.9% 

Yahoo Inc Yahoo YHOO 38,717,100 29.660 ▲0.320 ▲1.1% 
Arris Group Arris ARRS 35,256,000 45.550 ▼2.410 ▼30.5% 
 
 
 
 
 
 



Securities and commodities worksheet 
 
Directions:   Complete each step in the problem.   The answer in the first problem will be 
used in the second problem and so on.  Answers for each problem have been given 
letters.  Watch where the letters are in the problems and put your answers in accordingly.  
The final answer will be a combination of all answers. 
 

1) -2 + -1 = _______(a) 
-1 +  0 = _______(b) 
 0 +  1 = _______(c) 
 1  + 2 = _______(d) 
 _____(a) + _____(b) = ______(e) 
 _____(b) + _____(c) = ______(f) 
 _____(c) + _____(d) = ______(g) 
 _____(e) + _____(f)  = ______(h) 
 _____(f)  + _____(g) = ______ (i) 
 _____(h) + _____ (i)  = ______(j)  YOUR FINAL ANSWER! 
 

2) -5 + -2 = ________(a) 
-2 +  0 = ________(b) 
 0 +  2 = ________(c) 
 2 +  5 = ________(d) 
_______(a) + _______(b) = _______(e) 
_______(b) + _______(c) = _______ (f) 
_______(c) + _______(d) = _______(g) 
_______(e) + _______(f)  = _______(h) 
_______(f)  + _______(g) = _______(i) 
_______(h) + _______(i)  =  _______(j)   YOUR FINAL ANSWER! 
 

3) -6 + -3 = _______(a) 
-3 +  4 = _______(b) 
 4 +  2 = _______(c) 
 2 + -5 = _______(d) 
_______(a) + _______(b) = _______(e) 
_______(b) + _______(c) = _______(f) 
_______(c) + _______(d) = _______(g) 
_______(e) + _______(f)  = _______(h) 
_______(f)  + _______(g) = _______(i) 
_______(h) + _______ (i) =  _______(j)   YOUR FINAL ANSWER! 
 

4) -2 +   4 = _______(a)) 
 4 +  -8 = _______(b)   

             -8 +  16 =_______(c) 
            16 + -32 = _______(d) 
             _______(a) + _______(b) = _______(e) 
             _______(b) + _______(c) = _______(f) 
             _______(c) + _______(d) = _______(g) 
             _______(e) + _______(f)  = _______(h) 
             _______ (f) + _______(g) = _______(i) 
             _______(h) + _______(i)  = _______(j)   YOUR FINAL ANSWER! 
 
 



5) 243 + -81 = _______(a) 
-81  +  27 = _______(b) 
 27  +  -9  = _______(c) 
 -9   +   3  = _______(d) 
_______(a) + _______(b) = _______(e) 
_______(b) + _______(c) = _______(f) 
_______(c) + _______(d) = _______(g) 
_______(e) + _______(f)  = _______(h) 
_______(f)  + _______(g) = _______(i) 
_______(h) + _______(i)   = _______(j)   YOUR FINAL ANSWER! 

 
6)   6 +  -8   = _______(a) 

 -8 +   6   = _______(b) 
  6 +   5   = _______(c) 
  5 + -32 = _______(d) 

            -32 +  84  = _______(e) 
            _______(a) + _______(b) = _______(f) 
            _______(b) + _______(c) = _______(g) 
            _______(c) + _______(d) = _______(h) 
            _______(d) + _______(e) = _______(i) 
            _______(f)  + _______(g) = _______(j) 
            _______(g) + _______(h) = _______(k) 
            _______(h) + _______(i)   = _______(l) 
            _______(j)  + _______(k)  = _______(m) 
            _______(k) + _______ (l)  = _______(n) 
            _______(m)+ _______(n)  =_______(o)  YOUR FINAL ANSWER! 
             
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 


